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QUESTION 50 
Which two statements about multicast routing are true? (choose two)  
 

A. You can define RPF routes for multicast when you want multicast data to diverge from the unicast 
traffic path 

B. Multicast routes are used to directly forward traffic without making RPF checks 

C. You can define RPF routes for multicast on border routers to enable reverse path forwarding to 
an external network 

D. RPF routes for multicast can be distributed 

E. IPv6 static multicast routes are supported 

 
Answer: AC 
 
QUESTION 51 
Which three options are benefits of the vPC peers switch feature? (Choose 3) 
 

A. It eliminates the recommendation to pin the STP root to the vPC primary switch. 

B. It allows a pair of the vPC peer devices to appear as a single STP root in the Layer 2. 

C. After the peer link comes up, it performs an ARP bulk sync over CFSoE to the peer switch. 

D. It improves convergences for Layer 3 flows. 

E. It simplifies STP configuration by configuration both vPCs with the same STP priority. 

 
Answer: ABE 
 
QUESTION 52 
Which two settings must be configured before enabling a Cisco UCS Manager domain for Cisco Intersight connectivity? 
(Choose two.) 
 

A. SMTP servers 

B. SMTP reply-to address 

C. NTP servers 

D. syslog redirection 

E. DNS servers 

 
Answer: CE 
 
QUESTION 53 
An engineer must configure Cisco IMC server management NIC for autonegotiation. 
Which setting should be selected? 
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A. shared LOM 

B. Cisco card 

C. dedicated 

D. shared LOM EXT 

 
Answer: C 
 
QUESTION 54 
A network engineer is adding a Cisco HyperFlex data platform to the Cisco Intersight management portal. 
Which two components are required for Intersight to claim the Cisco HyperFlex data platform? (Choose two.) 
 

A. device FQDN 

B. device claim code 

C. device public IP address 

D. device ID 

E. device serial number 

 
Answer: BD 
 
QUESTION 55 
Where is the witness deployed in a two-node Cisco HyperFlex Edge deployment? 
 

A. to the HyperFlex Edge two-node cluster 

B. to Cisco Intersight 

C. to a third-party cloud provider 

D. to an additional server with network access to HyperFlex Edge 

 
Answer: B 
 
QUESTION 56 
Refer to the exhibit. What is the result of this series of commands? 

 
 

A. It reboots the server immediately. 

B. It activates the firmware on the next adapter boot. 

C. It updates the firmware on adapter 1/1/1 immediately. 

D. It verifies the firmware update on the server. 

 
Answer: B 
 
QUESTION 57 
What is the benefit of adding Cisco HyperFlex Hardware Acceleration Cards to a HyperFlex deployment? 
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A. increased compression efficiency 

B. increased network throughput 

C. GPU acceleration 

D. offline encryption acceleration 

 
Answer: A 
 
QUESTION 58 
When the default firmware package is set to a new version, which type of policy determines the liming of server reboots 
during the firmware upgrade? 
 

A. diagnostics 

B. maintenance 

C. local disk 

D. BIOS 

 
Answer: B 
 
QUESTION 59 
Which two hypervisors does Cisco HyperFlex support? (Choose two.) 
 

A. OpenStack 

B. Citrix XenServer 

C. VMware vSphere 

D. RedHat KVM 

E. Microsoft Hyper-V 

 
Answer: CE 
 
QUESTION 60 
An engineer changed a configuration and must perform a rollback. 
Which statement applies to a Cisco Nexus 5600 Series Switch? 
 

A. The configuration rollback functionality is disabled when FCoE is enabled. 

B. A system checkpoint is generated automatically when the running configuration is saved to 
NVRAM. 

C. A user who is assigned to the network-operator user role can perform a rollback. 

D. Errors are skipped when an atomic rollback type is triggered. 

 
Answer: A 
 
QUESTION 61 
Which statement about the impact of a rolling EPLD upgrade on a Cisco MDS 9000 Series Switch is true? 
 

A. The upgrade can be performed from the standby supervisor module. 

B. Only the modules that are being upgraded are disrupted. 

C. All modules on the switch are disrupted. 

D. An EPLD upgrade is nondisruptive. 

 
Answer: B 
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